ASSEMBLY INSTRUCTIONS

ITEM NO.:35927/35912/35956/35942

Do not tighten screws until completely assembled.

PAGE 1 OF 6




PARTS IDENTIFICATION

2 W
s
,

/ 7/

AL\ S i W R S
=S T

T 2 '/WWV‘ wwlw

7

\Vi=) (=)

PAGE 2 OF 6



PARTS IDENTIFICATION

2pcs

E : 2pcs

1pc
1 2 3
@)mmm ALY DM
M6x15 8pcs| M6x60 4pcs| M6x60 2pcs
4 5
M5x10 8pcs| 4x4 @ 1pc

0 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160
Units (mm)

PAGE 3 OF 6




STEP 1.

STEP 2.

8pcs

PAGE 4 OF 6




STEP 3.

Qe

STEP 4.

SCREWDRIVER
: (NOT PROVIDED)
X o
M5x10 8pcs

PAGE 5 OF 6




STEP 5.

PAGE 6 OF 6




	35927 35912 35956 35942  SBS1526  二代货柜床前椅储物柜说明书 Model (1)
	35927 35912 35956 35942  SBS1526  二代货柜床前椅储物柜说明书 Model (2)
	35927 35912 35956 35942  SBS1526  二代货柜床前椅储物柜说明书 Model (3)
	35927 35912 35956 35942  SBS1526  二代货柜床前椅储物柜说明书 Model (4)
	35927 35912 35956 35942  SBS1526  二代货柜床前椅储物柜说明书 Model (5)
	35927 35912 35956 35942  SBS1526  二代货柜床前椅储物柜说明书 Model (6)

